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Rl | CElR) jj(k;:l;fz?ﬁij( a;(g)iﬁ%a)a iiﬁiﬁ)nt a;(g)iﬁ%a)a iiﬁiﬁ)nt a;(g)iﬁ%a)a iiﬁiﬁ)nt a;(g)iﬁ%a)a iiﬁiﬁ)nt a;(g)iﬁ%a)a iiﬁiﬁ)nt a;(g)iﬁ%a)%
No.1 No.2 100.0 1.0
No.2 No.3 81.7 1.0
No.3 No.4 100.0 1.0
No.4 No.5 100.0 1.0 13.5 26 112.2 1.0 13.5 26
No.5 No.6 100.0 1.0 13.5 26 1241 1.0 13.5 26
No.6 No.7 100.0 1.0 124 24 1241 1.0 124 24
No.7 No.8 100.0 1.0 11.9 23
No.8 No.9 65.5 1.0 11.9 23
No.9 No.10 65.5 1.0 13.6 26
No.10 No.11 72.5 1.0
No.11 No.12 82.8 1.0
No.12 No.13 100.0 1.0 13.6 26
No.13 No.14 100.0 1.0 13.9 26
No.14 No.15 100.0 1.0 13.9 26
No.15 No.16 100.0 1.0 13.5 26
No.16 No.17
No.17 No.18
No.18 No.19
No.19 No.20
No.20 No.21 79.7 1.0 15.9 3.0
No.21 No.22 100.0 1.0 13.8 26
No.22 No.23
No.23 No.24
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FI(kN/m?) &(m) FI(kN/m?) &(m) FI(kN/m?) &(m) FI(kN/m?) &(m) FI(kN/m?) &(m) J3(kN/m”) &(m)
No.24 No.25
No.25 No.26
No.26 No.27
No.27 No.28
No.28 No.29
No.29 No.30 743 1.0 10.7 20
No.30 No.31 715 1.0 10.7 20
No.31 No.32 715 1.0 10.7 20
No.32 No.33 715 1.0 10.7 20




